LA 2FFRAYFIREFERS Y - Ex BKEH F- xwy=E

< #k chl = ~- =om2 2 4e50 ~2-1 &
[3]+ &% :31) FLB !

£LHT 5 >

BB A
MFIFEREEE Y TR L WHRIEEL H I RS R RS
- “H-E83 (F34A%404)
1 2 3 4 5 6 7 8 9 10
B B C A D A B C D
SN RERM A (EHR4A L 364)
1 2 3 4 5
x+7y—1 10x+5y=50 5
6 ! (2x+y=10) 2 320
6 7 8 9
12 = (—4,2) 135

= AEEEVE (x244)

LA 4e iy 2 F BT ~- B> 3 258 (64) 2. JUr AW A FEBT A - S 2 RN (64)
4x +5y =1 {3a+5b:24
6x — 7y = 16 2a — b = 3

T g (64)
(G %#? B~ A-B-C D& E)

=)
%’\_&A—L.q-ﬁ&— B\«—_&A4—44K—— A A
y 29 F hERI AL A BN Fd E B A E
4 AV AL LB -BFREREG FSAT? (64)
A(—4,3)
B "%__ B(—3,3)
B C(—4, —3)
. D(4, 6.5)
14 E(6.5, 4)
o] 1 rX
B
®

F1H - H1H




